-\—WWW'S“j"i”g'°°m

(glyoxalase ,Gly )

24
MG Gly EC 3.1.2.6
S-D- (S-D-lactoylglutathione, SLG)
GSH D- GSH DTNB
412nm 412nm

Gly

REVR 1REUR 30mLX 1 # 4°CIRTF
I F— TRIE 15mLX 1 i 4°CIRTF
1 K 0.5mLX 13 4°CIRTF
FARIRJL MERFIENESS, B0
0.55mL ZBKSELAMER, AT
= MR mgX 32 20°CIR7F
BIAFFIRI-20 BN iR, BIERE
B
A B R mgX &2 20°C1RTE EEFAReE, MRz,
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1mL lcm
(Gly )
2
1
0.1g 0.2g 1mL 12000rpm
4 10min
[ 1 g (mL) 1 5-~10
2
412nm
25 ImL lcm
570:20 590uL
pL
=N 100
i 5 — 570
= 20
=5 = 20
BA, B (25°C) T, 30s FIENTF 412nm AMRER E AL, 3min [FEIREL A2,
AA=A2-Al,
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[ 1 1. AA V1 200pL
T 10min A2 W
Vi T W
2. DAA 0.8 Al 1.2 Vi 50uL
T 1min A2 Vi
T
1 y = 0.0199x - 0.0105 x nmol y AA
1.2 -
A ¥ =0,0199x-0.0105
R¥ = 0.9996
E o8-
=
o
> 05 -
(=]
O o044
0.2 -
n L ] v L] L] ] L]
i 1 20 A0 Al bl il

GSH (nmol)

1nmol GSH

Gly (nmol/min/mg prot)=[( A A+0.0105) + 0.0199] =+ (V1 x Cpr) + T=167.5 x (A

A+0.0105)+Cpr
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3
1nmol GSH
Gly (nmol/min/g )=[( A A+0.0105) + 0.0199] =~ (W x V1 +V)+T=1675% (A
A+0.0105)+W
V1--- 0.lmL V--- ImL
W--- g T--- 3min
Cpr--- mg/mL BCA
1. 10pumol/mL ImL
-20
2. 0,0.1,0.2,0.3,04, 0.5. pmol/mL
3. EP 100pL +590pL +20pL 5min

imL lcm 412nm
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